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Answer both Section A and Section B
Section A

Read the passage and answer the questions.

The Wooden Horse of Troy.

ol "EAAnveg déka €t éudyovto toic Towotv. ¢BovAovto ya tv Toolav AauBaverv, dAAx ovx oiot

T Noav. téAog d¢ péyav inmov E0ALVOV émoinoay, kat £V ToUTw OTEATIOTAS EKQUAY.

émerta O¢ ot &AAoL "EAANVeG oG vioov tiva EmAgvoav 1) £yylg v, kal kel Epevov. ol HévToL ThNg
Toolag moAttat, pweot 6vteg, Evoulov avtovg mEog TV EAAGda Gpevyewv. 1yoryov ovv tov (Mmov eig

TV oAV, Aéyovteg 6t dwEOV Tols Oeolg EoTiv.

émet 0¢ VUE 1V, at pev vieg mpog v Tooiav avOig émAevoav: ol d¢ €v T (nmw AdBoa ¢ENABoV Kkal
nvotlav tag g moAéws TUAaG. tote dn ot ‘EAAnveg elodoapovtes éAafov tovg moAltag kat
dtépOepav v Toolav.

Names

Toweg, Towwv, ot Trojans
Toola, Toolag, 1 Troy
Vocabulary

EVAWoOG, EVALvn, E0Avov  wooden, made of wood
£yyvg nearby
avolyw aor. votEa | open

1 ot "EAAnveg déka étn éuaxovto toig Towaotv (line 1).

For how many years were the Greeks fighting the Trojans?

2 £BovAovto yoao v Toolav AapBaverv, dAAx ovx otol T foawv (lines 1-2).

What did they want to achieve?
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3 téAog 0¢ péyav inmov EVALVOV emoinoay, kat év TovTw oteatiwtag ékouvayv (line 2).

Explain in detail what they finally did.

.............................................................................................................................. (4]
4 énetta 0t ol dAAoL ‘EAANveG mEog vijodv tva EémAgvoay 1) £yyug 1y, kal kel épevov (line 3).

Where did the other Greeks sail to?

.............................................................................................................................. [1]

5 ot pévrot g Tpolag moAltat, pwot ovteg, EvoutLov avtoug Teog v ‘EAAGda dpevyewv (lines
3-4).

(@) How are the citizens of Troy described?

..................................................................................................................... [1]
(b)  What did the citizens of Troy think the Greeks were doing?
..................................................................................................................... [1]
6 Yoryov o0V TOV (Mmov €l TNV oA, Aéyovteg 6t dwov tols Oeoic oty (lines 4-5).
(@) What did the citizens of Troy do with the wooden horse?
..................................................................................................................... [1]
(b) What did they say it was?
..................................................................................................................... [1]
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7 émet 0¢ vOE Ny, at pev vijeg eog v Toolav avOc énAevoav: ot d¢ &v te (nrw AdBoa ¢ENABov
kat fpvoléav tag t¢ moAéws moAac. (lines 6-7).

When it was night, the ships sailed to Troy again. Explain what the men inside the horse did.

8 tote On ot "EAANVveg elodpapovtec EAaBov tovg moAitag kat diédpOeoav t)v Toolav (lines 7-8).

The Greeks ran into the city. What did they do after that?

.............................................................................................................................. [2]
9 For each of the Greek words below, give one English word which has been derived from the

Greek word and give the meaning of the English word.

One has been done for you.

Greek Word: (mmov

English Word: hippopotamus

Meaning of English Word:  river horse

Greek Word: TTOALV

English Word:

Meaning of ENglish Word: ..o e [2]

Greek Word: Oéra

English Word:

Meaning of ENglish WOrd: oo [2]
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Answer either Question 10 or Question 11.

10 Answer the following questions based on part of the story you have already read.

émerta 0 ol aAAoL ‘EAANveg mpog vodv tiva EmAevoav 1] &yyug 1)y, Kal €xel €uevov. ol
pnévror e Toolag moAltar, pwEor ovteg, &vopilov avtovg mEog TV EAAGda devyeuw.

Nyayov o0V ToV (MTov elg v moAL, Aéyovteg 6Tt dwEoV Tols Oeolg éoTLv.

Name

Toola, Toolag, 1 Troy
Vocabulary

£yyvg nearby

(@) mooc vinoov (line 1): identify the case of vijoov and explain why this case is used here.

..................................................................................................................... [2]
(b) Identify the tense and person of éuevov (line 1).
..................................................................................................................... [2]
(c) Identify a noun in the nominative case in line 2.
..................................................................................................................... [1]
(d) Pick out an adjective in line 2.
...................................................................................................................... [1]
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(e) Identify the form of pevyewv (line 2).

...................................................................................................................... [1]

(f)  Pick out a preposition in line 3.
...................................................................................................................... [1]

(g) Identify the case of toic O¢oig (line 3) and explain why this case is used here.
..................................................................................................................... [2]

Do not answer Question 11 if you have already answered Question 10.
11 Translate the following English sentences into Greek.

(&) The slave is now running away.
.................................................................................................................................................................. [3]

(b) We were learning many words.
.................................................................................................................................................................. [3]

(c) I heard a voice from the house.
.................................................................................................................................................................. [4]
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Section B

Read the passage and answer all the questions.

During a war between the Spartans and the Athenians, Brasidas leads an expedition against
Amphipolis. He shows determination on the journey, but has mixed success when he arrives.

oL 0¢ Aakedalpodviot ToAEpLoL Njoav Twv AOnvaiwv: kKal TTOADV X0OVOV €UAXOVTO KATA Te YNV KAl

kata OdAaooav. 6 d¢ Boaoidag, 6 twv Aakedatpoviwv 1YEU@V, HEYAANV OTOATIAV EXWV €TTOQEVETO

TEOG TNV AUPITTOALY" Ol Y&Q €Kel ToAlTaL VU)oL Noav Twv ABnvalwv. ol 0& Aakedaltovior ovk

EMAVOAVTO TTOQEVOIEVOL, KALTIEQ VUKTOG 0VOTNG KAl HEYAAOVL XELUWVOG YEVOUEVOD, DLOTL ¢BOVAOVTO

TEOG TNV TOALV wg Taxwota ddwkéobat. téAdog d¢ 0 Boaodac motapov tiva dafag meog tnv
AudinoAy meoonABev. kat ToLg péEV dygovg dLépOelge, TNV d& MOALY avTIV 0VX 0loc T v Aafetv

KAUTteQ MOAAKKIG TELQWHEVOS, TWV TELXWV VPNA@V KAl loXLoWV OVTWV.

Names

Boaodag, Boaoidov, 6 Brasidas

AudimoAs, ApditdAewg, 1 Amphipolis (a city in northern Greece)

12 oi d¢ Aaxedarpoviot ToAéuor noav twv AOnvaiwv: Kol ToADV XQOVOV EUAXOVTO KATA Te YNV

13

kat katx OacAacoav (lines 1-2).

What were the Spartans and their Athenian enemies doing for a long time?

6 0¢ Boaodag, 6 Twv AakedatloviwV 1YEHWV, HEYAATV 0TQATIAV EXWV ETTOQEVETO TOOG TV
AUPIoAWY: ot yaQ €kel moAltal ovppaxot noav twv Abnvaiwv (lines 2-3).

(@) Explain who Brasidas was and what he did.
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(b) Why were the Spartans opposed to the citizens of Amphipolis?

...................................................................................................................... [1]
14 ol d¢ Aakedapdviol oUK EMAVOAVTO TTOQEVOHEVOL, KALTEQ VUKTOS OVOTG KAl HeYAAOL
XELLWVOG YEVOUEVOD, DIOTL £BOVAOVTO TIEOG TNV TTOALV ¢ Taxota dpikéodat (lines 3-5).
(@) How did the Spartans persevere, and what difficulties did they face?
...................................................................................................................... [3]
(b) What were the Spartans aiming to do?
...................................................................................................................... [2]
15 1éAog d¢ 6 Boaodag motapov tiva dixBag meog v AudinoAwy mooonABev (lines 5-6).
What was the last thing Brasidas had to do before he reached Amphipolis?
.............................................................................................................................. [1]
16 kol tovg pév dyoug diépOelge, TNV d& MOALY TV 0VX 010 T NV AaBelv KalteQ TMTOAALKIS
TEELQWHLEVOS, TV TELXWV VPNAQV Kat loxvowv Ovtwv (lines 6-7).
(@) What did Brasidas succeed in doing to harm the enemy?
...................................................................................................................... [2]
(b) Describe in detail the problems he had.
...................................................................................................................... [4]
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Read the rest of the story.

When Brasidas learns that the Athenian general Thucydides is approaching with reinforcements, he
negotiates successfully with the people of Amphipolis.

émerta 0¢ O Bpaoidag émvbeto otoatnyov tva twv Adnvaiwv, @ovkvdidnv dvouatt, moAAaLs vavol
TEOOTIAEOVTA (vt 0WOELE TOVG TV TOALY PuAGooovTac. vov de 6 Boaodag eig Ttooovtov édofeito
wote véav PovAnv émoinoev. dyyeAov ovv 1ol moAltalg émeupev, 6 tade eimev: “@ Avdeg, Eav
€0éAnTe TV AudinoAy kat DPHAS avTOVG mAEAdOLVAL ULV Kol CUHHAXOVS TWV AXKEOXIUOVLWY
véveoOat, éE€otal VULV €V T1) TOAeL AOPaAwg pévewy.” 6 ovv Boaoidag tavta Oooxopevog émeloe
TOoULG oALTaC, Kat 0Utwg EAafe TV AUdimoAry.

0 d&¢ OovkLddNC el Tov Aléva oe €mAevoev. Dotegov d& €dofe 1) twv AOnvaiwv éxkAnoia
KOAACeLY adTOV, WS alTiov GvIa TG OLVUPOEAC” el Yoo 0 BovkvdidNg EOG TV AUditoALy TEdTeQoV
adleTo, TAVTA OVK AV €YEVETO.

Names

Boaoidag, Boaoidov, 6 Brasidas

BovkvddN S, BovkLddOL, O Thucydides

ApdinoAs, ApdimoAews, 1 Amphipolis

Vocabulary

TTaQAdOLVAL to hand over

opé too late

17 Translate the rest of the story into good English. [50]
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J292/01

Mark Scheme

MARK SCHEME:

June 20XX

SECTION A

Question Answer Marks Guidance

1 Ten (years) (1). 1

2 To capture/take Troy (1). 1

3 They made (1) a big wooden horse (1) and hid (1) soldiers 4

in it/this (1).

4 An/a island (1). 1

5 (a) | Foolish/stupid 1

5 (b) | Fleeing/running away to Greece (1). 1

6 (@) | They took/led it into the city (1). 1

6 (b) | A gift for the gods (1). 1 Must have plural.

7 They secretly (1) got/went out (1) and opened the gates (of 3

the city) (1).

8 They captured/took the citizens (1) and destroyed Troy (1). 2 Accept ‘the city’.

Decimal (1) dividing by ten (1); 4 Accept any valid alternatives.

9 politics (1) art of government (1). Incorrect derivation cannot score a mark for a correct
meaning of the English word; correct derivation can score a
mark even if the meaning expressed is incorrect.

Accusative (1) after modc / mpdg takes accusative / motion
10 (@) 2

towards (1).
10 (b) | Imperfect (1) third/third-person (1). 2 Correct number (plural) not required for mark.
10 (c) | moAttan (1) 1
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Question Answer Marks Guidance
10 (d) | pwoor (1) 1
10 (e) | Infinitive (1) 1
10 () |eic(1) 1
10 (9) | Dative (1) to/for (the gods) (1). 2
Word order flexible throughout.
11 (@) |6 0dovAog (1) vuv (1) pevyer (1). 3 X vghou
Article + noun combinations must
11 (b) | épavBavopuev (1) moAAovg (1) Aoyoug (1). 3 have both bits correct.
Accept any translation using correct
\ ) , . Greek even if vocabulary outside of
11 . 4 . "
(c) |dwvnv (1) amo (1) g oikiag (1) nrovoa (1) Accept genitive (pwvng Restricted Vocabulary List.
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SECTION B
Question Answer Marks Guidance
12 Fighting (1) by land (1) and by sea (1). 3
Leader/general/commander (1) of the Spartans (1) 4 Accept ‘guide’.
13 (a) | having/taking/with a big army (1) Accept ‘Spartan leader’ or equivalent.
he marched to(wards) Amphipolis (1).
13 (b) They/the citizens were allies of the Athenians/Athenian 1
allies (1).
They did not stop marching/carried on marching (1) 3
14 (a) | (although) it was night (1) Accept ‘happened’.
and a storm had arisen/blown up (1).
14 (b) | Reach/arrive at the city (1) as quickly as possible (1). 2 Accept ‘(at) Amphipolis’.
15 Cross ariver (1). 1
16 (8) | He destroyed (1) the fields (1). 2
He was unable to capture the city (1) 4
16 (b) | (although) he often tried (1)
(as) the walls were high (1) and strong (1).
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Mark scheme for unseen translation

The classification below should be seen only as a general guide, the intention of which is to maintain standards year on year. Lead Markers should
consider each instance on its own merits in the context of the passage and the section.

The mark scheme awards marks for the proportion of sense communicated. If a candidate has communicated the ‘gist’ of a sentence (e.g. they
know who has done what to whom) they will score 5, 4 or 3 marks. If they have not understood the basic sense of the sentence, they will score a
maximum of 2.

A completely correct translation with no omissions or errors will always score 5. The key judgment for a candidate who has demonstrated
understanding of the overall meaning of the sentence is whether they should score 5, 4 or 3. This will depend on the gravity of their
errors/omissions and may depend on the number of words in the sentence to be translated or the difficulty of the Greek and is usually decided at
standardisation after a judgment has been formed about the performance of candidates.

A word containing more than one error should be treated as a maximum of one serious error. Repeated and consequential vocabulary errors
should not be penalised.

6 o0V Boaoidag tavta OUooxdpevog émeloe Tovg TMOALTAG, kal 0UTwe EAafe v AudimoAwy.
Brasidas therefore by promising these things persuaded the citizens, and in this way he captured Amphipolis.

(i) ‘Brasidas by promising these things persuaded the citizens, and in this way he captured Amphipolis’ - omission of ovOv (‘therefore’) is an
inconsequential error, so 5 marks out of 5

(i)  ‘Brasidas therefore by promising these things was persuading the citizens, and in this way he was capturing Amphipolis’ - imperfect for aorist
twice over makes two inconsequential errors, so 4 marks out of 5

(i) ‘Brasidas therefore by preventing these things persuaded the citizens, and in this way he captured Amphipolis’ - ‘preventing’ for ‘promising’ is
a vocabulary error giving wrong sense, so 4 marks out of 5

(iv) ‘Brasidas therefore provided these things to persuade the citizens, and this man captured Amphipolis’ - ‘provided’ is a vocabulary error giving
wrong sense, ‘to persuade’ tries to make an indicative verb into a purpose clause, and the adverb ‘in this way’ is mistaken for a pronoun -
making several more serious errors, yet with the overall sense still clear, so 3 marks out of 5

(v) ‘Brasidas did not provide such things to send to the citizens, so in this way he captured Amphipolis’ - numerous vocabulary errors (confusion
of similar words) giving wrong sense, but part is correct, so 2 marks out of 5
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(vi) ‘Brasidas did not reply these things to many people, and Amphipolis took nothing’ - isolated knowledge of vocabulary but no continuous
sense, so 1 mark out of 5

The sort of errors that we would generally expect to be considered ‘more serious’ would be:

e case (normal use wrongly rendered, or e.g. confusion of different types of time expression)

o tense (except where slippage between different past tenses is justified or required in English, e.g. Greek imperfect as simple past, Greek
aorist as pluperfect)

e construction (not recognised/not correctly rendered)

e sentence structure (writing a sentence with no main clause, or several unconnected)

The categorisation of ‘inconsequential’ and ‘more serious’ errors might vary within a paper, depending on the length of the sentence for translation
(e.g. the omission of a word in a five word sentence might be judged more serious than a similar omission in a twelve word sentence) and might
vary between papers. The final decisions on what constitute ‘inconsequential’ and ‘more serious errors’ will be made and communicated to
assessors via the standardisation process (after full consideration of candidates’ responses) and these decisions will be captured in the final mark
scheme for examiners and centres.

5 Perfectly accurate with no errors or omissions, or one inconsequential error
4 Essentially correct but two inconseguential errors or one more serious error.
3 Overall meaning clear, but more serious errors or omissions.

2 Part correct but with overall sense lacking/unclear.

1 No continuous sense; isolated knowledge of vocabulary only.

0 = No response or no response worthy of credit.
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Question Answer Marks Guidance
The passage above has been divided into 10 sections, each worth 5 The following examples are intended to exemplify
marks. Award up to 5 marks per translated section according to the what might constitute an inconsequential and
5-mark marking grid. more serious error.
17 émerta ¢ 6 Boaoidag ¢mvbeto atpatydv tva twv Adnvaiwy, 5 Inconsequential
AoukvdidnV dvéuaTy, e mis-spelling of proper names
o ‘offfrom Athens’
Then Brasidas learned/found out/ascertained that a (certain) general e ‘when’ for ‘then’
of the Athenians/Athenian general, Thucydides by name/called
() | Thucydides ... More serious
o ‘obeyed’ (confusion with similar word) for
‘found out’
e ‘which general’ or similar
¢ failure to recognise the indirect statement /
omission of ‘that’
TOAAQLS vawoi moomAéovta tva owoeLe TOUG TV TOALV 5 Inconsequential
dvAGoTOVTaC. e ‘sailing to’ (without saying to whom or what)
e ‘the guards of the city’/’'the guards in the city’
... was sailing (towards him)/approaching with many ships (in order) or'S|m|Iar o
to save those/the men guarding the city. e ‘with more/most/very many ships
More serious
(i) ¢ ‘[many] ships were sailing’ (misunderstanding
what the participle is doing)
e ‘with big ships’ or ‘with all the ships’
¢ failure to recognise the purpose clause (‘[in
order] to’)
e ‘so that he saved’ or similar (purpose clause
taken as result clause)
o failure to recognise article + participle
(‘those/the men guarding’)
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vov d¢ 0 Boaoidag eig tooovtov éhoPeito ote véav BoLAT|V S Inconsequential
¢momoev. e omission of ‘now’
e ‘was so afraid so that’ or similar tautology
(i) | Brasidas was now so (much) afraid/so frightened that he made a _
new plan. More serious
e failure to recognise the result clause
e ‘he made a ship’ (confusion with similar word)
for ‘he made a plan’
&yyeAov oDV Toig moAltaig émepev, 6g tade elmev: “@ avdoes, 5 Inconsequential
gv £0¢ANTe e omission of ‘therefore’
e omission of ‘this’/’these things’
_ He therefore sent a messenger to the citizens, who said this/these _
(iv) | things: “Men/gentlemen, if you wish/are willing ... More serious
e failure to recognise the relative clause (‘who
22
e failure to recognise the conditional clause (’if
)
TNV AudimoAy kat DUAS a0TOVS TAQAdDOLVAL ULV KAL CUHUAXOVS S Inconsequential
TOV AAKEDXILOVIOV YévearOat, e ‘the Amphipolis’ (translating redundant article)
e ‘Amphipolin’ (keeping/transliterating
... to hand over Amphipolis and (you) yourselves to us and (to) ‘accus_atlve)’ ‘ _ ,
M | become allies of the Spartans/Spartan allies ... * 'beallies of or ‘be allied to
More serious
¢ ‘hand over ... ourselves to you’ or similar
(pronouns muddled)
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eEéotat DLV €v M) moAeL doPpaAwg pévew.” 5 Inconsequential
e ‘itis possible’
(vi) |... it will be possible for you/you will be able to stay/remain safe(ly) in
the city.” More serious
e ‘for us’ (confusion of pronouns)
0 o0V Boaodac tavta VTooXOEVOG EMelTe TOUG TTOALTAC, KAl S Inconsequential
oUW éAafe TV AudimoAty. e omission of ‘therefore’
e ‘was persuading’ (aorist translated as
(vii) | Brasidas therefore having promised/by promising thus/these things imperfect)
persuaded the citizens, and thus/so/in this way he took/captured .
Amphipolis More serious
’ o failure to render participle acceptably
(‘promised this and’ is of course fine)
6 d& OovkLdIdNG eig TOV Alpéva oe EmAgvoev. boTeQov O¢ €doe S Accept ‘.it s_eemed good to the assembly
M TV ABnvaiov ékkAnoia ... or similar.
(But) Thucydides sailed into the harbour too late. Later the assembly I.nc?(?fzﬁ(xﬁggsl
of the Athenians/Athenian assembly decided ... . ,
(viii) I I y I e ‘it seemed to the assembly’ (BUT ‘it seemed
good to the assembly’ is correct)
More serious
e ‘it seemed that the assembly’ (wrongly taken
as indirect statement)
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KOAGLELV aDTOV, WG ALTIOV OVTA TS CLUPOAS! S Inconsequential
e ‘to punish himself’
_ ... to punish him, as (he was)/for being responsible/to blame for the e ‘as he is responsible’
(ix) | disaster; .
More serious
¢ failure to recognise causal use of the participle
with g
el yap 6 ®o0kvdidNg mEog v AudimoAy mEdTeQOV AdlieTo, 5 Inconsequential
TaUTA OUK AV EVEVETO. e ‘had arrived to Amphipolis’
e ‘had arrived early’
for if Thucydides had arrived at/reached Amphipolis earlier/sooner, * ‘would never have happened
) this/these things/it would not have happened. .
More serious
¢ failure to recognise past closed/unfulfilled
conditional clause (‘if X had ..., Y would [not]
have ...")

10
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